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Mark schemes are prepared by the Lead Assessment Writer and considered, together with the relevant 
questions, by a panel of subject teachers.  This mark scheme includes any amendments made at the 
standardisation events which all associates participate in and is the scheme which was used by them in this 
examination.  The standardisation process ensures that the mark scheme covers the students’ responses to 
questions and that every associate understands and applies it in the same correct way.  As preparation for 
standardisation each associate analyses a number of students’ scripts: alternative answers not already 
covered by the mark scheme are discussed and legislated for.  If, after the standardisation process, 
associates encounter unusual answers which have not been raised they are required to refer these to the 
Lead Assessment Writer. 

It must be stressed that a mark scheme is a working document, in many cases further developed and 
expanded on the basis of students’ reactions to a particular paper.  Assumptions about future mark schemes 
on the basis of one year’s document should be avoided; whilst the guiding principles of assessment remain 
constant, details will change, depending on the content of a particular examination paper. 

Further copies of this Mark Scheme are available from aqa.org.uk 
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Q Answer Mark Comments 

 

1(a) 5 points plotted correctly B2 Allow  1
2

 square 

B1 for 3 or 4 correct plots 

1(b) One straight line through both gates 
(90, 8.5 - 9.5) and (130, 13 - 14) 

B1  

1(c) 11.3 B1ft ft their straight line of best fit 

Allow [11.0, 11.6] if B0 awarded in (b) 

 

2 Alternative Method 1  

At least one product attempted or one 
correct value (not 6) 

or 

143 

M1 1  6 

2  10  or  20 

3  22  or  66 

4  9    or  36 

5  3    or  15 

(their 6 + their 20 + their 66 + their 36 
+ their 15) ÷  50 

or 

143 ÷  50 

M1dep Must be adding products and dividing by 50 

Condone missing brackets 

2.86 A1  

Alternative Method 2  

At least one product attempted or one 
correct value (not 6) 

or 

143 

M1 1  6 

2  10  or  20 

3  22  or  66 

4  9    or  36 

5  3    or  15 

their 6 + their 20 + their 66 + their 36 
+ their 15  or  143 

and   

3  50  or  150 

M1dep Must be adding products and multiplying 3 
by 50 

143 and 150 A1  
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Q Answer Mark Comments 

 

5 (Wales =) 60(°)  or  1
6

 

or 1(°) = 500 or 10(°) = 5000 

or (NI =) 15 000 

or (Scot =) 45 000 

or (Eng =) 90 000 

B1 Allow ± 2° 
May be implied 

Values may be on pie chart 

360 ÷  their 60  30 000 
or 

6  30 000 
or  

45 000  4 
or  

their 15 000 + their 45 000  
+ their 90 000 (+ 30 000) 

or 

(15 000 + 30 000 + 45 000) ( 2) 

M1 

oe 

NI + Scot + Eng with two  of NI, Scot or Eng 
correct (condone Wales missing) 

(Doubles) (NI + Wales + Scot) with NI and  
Scot correct 

180 000 A1 Accept integer in range [174 194, 186 206] 
from angle [58, 62] 

If 60° used must have 180 000 

 

6(a) qualitative    and     primary B1  

6(b) pie chart     and     bar chart B1  
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Q Answer Mark Comments 

 

 Alternative method 3  

150 ÷  25  or  6 (1%) M1 oe 

35 × their 6   or  210 

and 

3 × their 6   or  180 

M1dep oe 

their 6 × 100 – (150 + their 210 + their 
180) 

M1dep oe 

60 A1  

 

8 Alternative Method 1  

1.032 seen M1  

5000  1.032 
3
 M1 oe 

5495.523... A1 May be implied 

5495.52 B1ft ft their answer rounded to 2 dp 

SC1 5480     

Alternative method 2  

5000 + 5000  0.032  or  5160 M1 oe 

their 5160 + their 5160  0.032  

or  5325.12 
and 

their 5325.12 + their 5325.12  0.032 

M1  

5495.523... A1 May be implied 

5495.52 B1ft ft their answer rounded to 2 dp 

SC1 5480      
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Q Answer Mark Comments 

 

10(a)  B2 oe 

B1 at least one correct pair of 
 probabilities 

or all top probabilities = 1
5

 

or all bottom probabilities = 4
5

 

10(b) 
 

1 4
  

5 5


   
or  4

25
  M1 oe 

May be at end of tree diagram 

8
25

  or  0.32 A1ft oe 

ft their tree diagram 

 

11 Selects 1 000 000  or 1  10 
6
  

or  5  10 
3
  or  5000 

B1  

Subtracts two values from list 

1 000 000 – 5  10 
3
 

M1 oe 

Condone incorrect conversion to or from 
standard form for this mark 

995 000 A1 May be implied 

9.95 × 105 Q1ft Strand (i)  

ft any answer correctly converted to 
 standard form 

 

12(a) 175 – 65 (= 110) B1  

12(b) 110  30 ÷  240 

or  240 ÷  30 = 8  or  30 ÷  240 = 0.125

M1 oe  110 ÷  8  110  0.125 

Condone 30  [0.45, 0.46] 

13.75 A1 May be implied 

14 A1ft ft any correctly truncated or rounded 
 decimal 

SC2  13 

SC2  5 (from total 695) 

SC1  4  or  4.7(...) (from total 695) 

 

Q Answer Mark Comments 
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